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Instructions :
i) There a .+ nine questions in this question paper.

ii) - All questions are compulsory.

i) In the beginning of each question, the number of parts to be
attempted are clearly mentioned.

iv) Marks allotted to the questions are indicated againstythem.

v) Start solving from the first queétion and proceed to solve till the
last one.

vi) Do not waste your time over a question you cannot solve,
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1. Do all the parts of the following :
Write the correct alternative of each part in your answer-book :

_4 Y i
a) If y=4t and x-T,thcn the value of Ax will be

. 1
1) -
[‘2

i) -1 w) ot

70022/81

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

3 324(AY)

b 10 1
) If A= [1 O] and B = [5 _?], then BA will be
. -1 0
Y [ 0 1] i [(11 _d]
i) [_? ‘é] iv) [_? (ﬂ :

<) The slope of the normal 1o the curve y=2x*+3sinx at x = 0 will

be

: 1

1) 3 i) 3

1 .

lll] —5 i\_r] -3 1

V3 d
d) The value of I 2 will be
1+ x2
hie .. il

l] 6 Il} -1_5

i) 2 iv) % 1
e) The modulus function f:R —+.R* given by f(x)=| x| will be

i) one-one and ghto 11} many-one and onto

111) one-one e%;}mto 1v) many-one and into. 1
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2.

Do all the parts of the following :

a) Evaluate : j:c2 sin{xsldx- 1

AA M A A A .
b) If the vectors 2i+ j—ak and i+4 j+k are perpendicular, ther
find the value of a. |
c) Solve dy _xtel . l
dx y
d) If sin~! (-;-) =tan"! x, find the value of x. 1

e) If A:-_[g 3] and B:[_é g], then find the value of (A + B) anc

(A-B). 1
3. AWl @IS & g I
- . 2
) q1q y=AcosB+Bsin{},ﬁTfH§§'ﬁﬁ|‘E{ﬁ? d—y=—y. 2
de
W) NHEH 3x+4y<12, 4x+3y<12,020, y20 I THE MY T &=
HIT | 2
. a+ 2c a b
M) o =i fe gﬁ\c b+c+2a b =2(a+b+c)’. 2
&7 ¢ a c+a+?2b
~ \Q‘b' :
7)) AR @@Bamwaﬁn%%aﬁmmﬁ
[AB]_I — B_l. A_l. . 2
3. Do all the parts of the following :
- 2
a) If y=Acosf+ Bsin#, then prove that i_i":_y* 2
de
bj) Solve the inequality 3x+4y <12, 4x+3y<12, x20, y20 by
graphical method. 9
a+b+2c a b
¢} Prove that c b+c+2a b =2(a+b+c). 2
o a c+a+2b
d) If Aand B are two non-singular square matrices of order n, then
prove that (AB) ' =RB7', A}, 2
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4. W wugi @ ze Fi
F) W x=asin®t, y=pcosdt T t=1 W 1 g T
i 2
Yy T TP AR oI o oy 5w s s o e 6 €,
W S B B A A w4 W) e v e B 2
¥ ?@x;3=y;5 “6 1 Gfee1 weeRr T A 2

q) HTHA HIHIO log(-a;J =3x + 4y Fl T _Glﬂ'%‘l'QI 2

4. Do all the parts of the following - |

a) Find the cquation of tangent at t-% on the curve x=asin’t,
y=bcos3t. . 2
b) One die is thrown two times. If the sum of the appeared numbers
on their faces is 6, find the conditional probablhty of appearing
number 4 at least one time in that. 2
c) Find the vector equation of the line X 5 3 y4 > z; 6 . 2
d) Solve the differcnti@k equation log(ﬂ] =3x+4y. 2
K\Q dx
N

5. mﬁ@vﬁiﬁmﬁf@
S

&) mﬁﬁﬁ@?m}?-—-{ab}er Z |(a-b), 2/ faviE & ) o

ngn |

| 5
@) qﬁ"*”':[l ﬁ]ams [ . -g],amﬁﬁ e
(AB)"! = B~'al, S
M) y=(cosx)¥" 4 x* FT IFHA TIH el HIAC 5
' ax+1 3% x<3
e o ={ 2 R SS
x=3W UAd & a1 o qUT b H HAH A HiT | S
'F) W flx)=4x> —6x% - 72x+30 & [ I W o Forant wrr
(i) TEHT T (i) T B 5
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5. Do allthe parts of the following :

Prove that the relation R = {(a,b)eZx Z | (a - b) is divisible by 2} js

al
an equivalence relation. - _ )
b) If A= [21 _ i] and B = [_% B g], then prove that (AB)' =B~'a7!,
. : S
c) Differentiate y = (cos x)"*™* + x*. ' | S
d) If the function f(x)= {bx+3 if x> 3 18 continuous at x = 3, then
find the values of a and b. . .
e) Find the interval in which the function f(x)=4x® —6x? - 72x + 30
is (i) increasing and (ii) decreasing. S
6. ft @vel # & Hifew
F) ARSI FHE (tan~! y - x)dy = ( 1+ y?)dx B EF HIAC 5
. =¥ M A
@) @ =i+2j-ak+r(21+3]+6K) U
=» f'\ J’\; Fal A A A
r=31+3j-5k+p(2i+3j+6k) % TH JAqd I T HITA0 5
) wmﬁﬁqws@ﬂm%aﬁﬁwmaﬁﬁmmmaﬁﬁﬁw
37 o g G - 5
0 G x4+ 8B, TE y = 4x A AT F T T S ey By 8
T TR A BT _ 5
¥) HE I I[log{logx1+ 1 = | dx. 5
(log x) | '
6. Do all the parts of the following :
a) Solve the differential equation (tan™!y - x)dy = (1+y?)dx. 5
b) Find the shortest distance between the lines '
-» A A M . A A A
r=i+2j-4k+A(21+3j+6k) and
- A A A A A A )
r=3i+3j-5k+p(2i+3j+6k). 5
c) If a die is throer three times, then find the probability of getting at
least one appearing number in them will be odd. S
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d) Find the arca including betwecen the circle x2 +y? ;gx, parabola
y2 = 4y and upper part of x-axis. 5
€) Evaluate I [logilogx}+ 1 = | dx. 5
(log x) :
7. frd uw @ug ) g ST

%) Mﬁﬁq%aﬂmja;ﬁ g]'ﬁwaﬂ-mufo%ﬁiﬁ‘zm
¢ T 1, UF 2 x 2 AHAE AR a0 UH 2 x 2 Y GE § | WA
AN ¥ A~ 7 Hiwg 8

@) el & e w s fafy @ s e 8
3x-2y+3z=8, 2x+y-2=13N 4x-3y+2z=4.

Do any one part of the following :

a) Prove that the matrix A= [% g] satisfies the equation’
A?-4A+1,=0, where I, is 2 x 2 identity matrix and 0 is 2 x 2
zero matrix. Find <&@with the help of this. 8
b) Solve the systc‘%@f equations by matrix method : 8

3x-2y+3@%@, 2x+y—-z=1and 4x-3y+2z=4.

Q
%m%‘ﬁgﬁﬁ@h%wmﬁgﬁm:

) i)  Z=8000x+12000y F FAfaEa satyi & s=wTa sfusan o=
I HiAq - 4

9x +12y <180, 3x+4y <60, x+3ys30, x20, y20.

.':_12 . 4 .
i) HFE AH FIAC : I S0 % ——dx. 4
o Sin” x+cos x
.. /2
g) HE [ &0 I log, sinx dx. 8
0
:'022/‘8 ] | Tum over

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

ii)

8. Do any one part of the folloWing: .

a) i)  Maximize Z = 8000x +12000y under the following
constraints : 4
9x+12y <180, 3x+4y <60, x+3y <30, x20, y20.

n/2 . 4
ii)  Evaluate I SIn_x dx. 4
- 0 sin® x + cos* x
n/2 . .
b) Evaluate I logE sinx dx. 8
0
9. %FFﬁ‘J_E mﬁﬁﬂ'ﬂﬁﬂ .
. - 2, d% _ dy |
F) i) I y = sin x, @ fag =g (1-x 1d2 5 =0 4
1i) gh y=cos(x+y), ~2n< x<2n H @l x+2y=0:$HqT-_dT
et Y@ F1 geteor fafan) 4
o . =
® Q) T gEe S A g W e S e 21+ j+ k) =6
- A A A
T r(2i+3j+4k)=-5 & Wfawg q fag (1, 1, 1)
’IGHEH%I ' , 5
ii) aaammﬁ@ ~ Y= cos x I T P 3
9. |, Do any one part of @followmg
a) i) l@\}gsm x ; then prove tl'Lat{l-xg)d2 xdy =0 4
g J dx? “dx 7
ii) Find the equation of tangent of the curve Yy =cos(x+y),
=21 < x £ 27 which is parallel to the line x+2y=0. .4
b) i)

Find the vector equation of a plane which passes through the

point of intersection of the planes r.{i+j+k}=6 and

aPPL S I
r (21+3j+4k)=-5 andthepoint{l,l,l], 5
Solve thé differecntial equation g%-—y =COoS X. 3
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